LESSON 1 — QUIZ ANSWERS

4V‘

1 Which card is denoted by the letter “K”? King
And which by the letter “)”? Jack
2 Write down and the names of these cards
aQ vA oT %)
Queen Spades Ace Hearts Ten Clubs Jack Diamonds
3 Clubs are trumps. West has just won a trick, and leads a club in the first

example, and a diamond in the second example of hands below. You can see
all 4 cards played. Who has won the trick in each hand?
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South East
4 This time we are playing the same hands but in No Trumps. Who

has won this time?

South North
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5 What is the point count of these hands?
Are they balanced or unbalanced hands?

a) AKQ3
vAKT87 17 HCP
*¢AJ6 Balanced
%92
b) AAJI3
vT876 13 HCP
*8 Unbalanced — you have a singleton
& AKJ6

c) AKQ975

vQl 12 HCP
*73 Unbalanced — you have 2 doubletons
*«A743
6 Write down the order of ranking of the suits including NT
No Trumps - highest ranking
Spades
Hearts
Diamonds
Clubs lowest ranking
7 You have to choose an opening lead. What do you lead form

these hands against NT contract?

a53 AaKT932 49863
vAKJ87 v963 vQT8
¢A753 ¢A2 ¢A2

%92 «875 %9875
vA a3 A90rs9
Top of touching honours Low for Like High for hate
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8 If I win the Auction with a bid of 5 Diamonds, how many tricks
does that mean | have to win to make my contract?

| contract to make 5 (that is to take 11 tricks) with Diamonds as

trumps
9 What do these words mean?
a Declarer Is the player who plays the contract
b Responder Is the Opening bidder's partner
C Dummy Is Declarer's partner. He puts his hand down on
the table after the opening lead.
d Void Means that a hand contains no cards in a suit.
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